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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. Two genes A and B are linked in a dihybrid

cross involving these two genes, the 

heterozygote is crossed with homozygous

recessive parental type (aa bb). What would be

the ratio of offspring in the next generation?

Watch Video Solution

F1

2. Write a short note on the law of "

inheritance of acquired characters".

Watch Video Solution

https://dl.doubtnut.com/l/_u1lW7SrBilKl
https://dl.doubtnut.com/l/_solTOvomaI4G


3. Who had proposed the chromosomal theory

of the inheritance?

Watch Video Solution

4. When true breeding pea plant with yellow

wrinkled seeds is crossed to true breeding pea

plant with green round seeds the genotype of

progeny will be

Watch Video Solution

https://dl.doubtnut.com/l/_solTOvomaI4G
https://dl.doubtnut.com/l/_7RdyaDbMDJXP
https://dl.doubtnut.com/l/_XzOuzvQ8ZCCQ


5. Define and terms phenotype and genotype.

Watch Video Solution

6. What is point mutation? Give one example.

Watch Video Solution

7. The genotype of a dominant phenotype

Watch Video Solution

https://dl.doubtnut.com/l/_VsAFILmnf3vq
https://dl.doubtnut.com/l/_PLtqH2ljH8RB
https://dl.doubtnut.com/l/_fWwie8OBGhF1


8. What will be the phenotypic ratio in the

offsprings obtained from the following

crosses. 

(a) Aa  aa (b) AA  aa (c ) Aa  Aa (d) Aa 

 AA 


Note : Gene 'A' is dominant over gene 'a'.

Watch Video Solution

× × ×

×

9. In garden pea, the gene T for tall is

dominant over its allele for dwarf. Give the

https://dl.doubtnut.com/l/_CNkSSl9odTU2
https://dl.doubtnut.com/l/_rjwAu2c4Bl7L


Short Answer Questions

genotypes of the parents in the following

crosses. 

(a) Tall  Dwarf producing all tall plants. 


(b) tall  tall producing 3 tall and 1 dwarf

plants.

Watch Video Solution

×

×

1. Mendel selected a pea plant for his

experiments. Mention the reasons for the

https://dl.doubtnut.com/l/_rjwAu2c4Bl7L
https://dl.doubtnut.com/l/_WUGIfnyAzOUg


selection of these plants.

Watch Video Solution

2. Differentiate between the following - 

(a) Dominance and Recessive (b) Homozygous

and Hetrozygous 

(c) Monohybrid and Dihybrid.

Watch Video Solution

https://dl.doubtnut.com/l/_WUGIfnyAzOUg
https://dl.doubtnut.com/l/_WEe8atNm28vp


3. Differentiate between the following - 

(a) Dominance and Recessive (b) Homozygous

and Hetrozygous 

(c) Monohybrid and Dihybrid.

Watch Video Solution

4. What is law of dominance?

Watch Video Solution

https://dl.doubtnut.com/l/_w459oFxY45nE
https://dl.doubtnut.com/l/_2jc3usrIOIy2


5. The genotypic ratio an phenotyti ratio of

back cross and test cross of a mendelian

monohybrid respectively

Watch Video Solution

6. What is law of dominance?

Watch Video Solution

https://dl.doubtnut.com/l/_sxUhF4kvCxmp
https://dl.doubtnut.com/l/_sF3AhmyukB4B


7. Explain the Incomplete Dominance with

example.

Watch Video Solution

8. Write a brief note on chromosomal

mutations and gene mutations

Watch Video Solution

9. State the law of segregation.

https://dl.doubtnut.com/l/_iWI9z4DbuMD5
https://dl.doubtnut.com/l/_l24XmfG1Z1sD
https://dl.doubtnut.com/l/_Lxn49KWjHWmU


Long Answer Questions

Important Questions

Watch Video Solution

1. Write about dihybrid cross with the help of

checker board?

Watch Video Solution

https://dl.doubtnut.com/l/_Lxn49KWjHWmU
https://dl.doubtnut.com/l/_90kL89IXfEQe


1. What is the cross between the  Progeny

and the Homozygous recessive parent called ?

How is it useful ?

Watch Video Solution

F1

2. Who had proposed the chromosomal theory

of the inheritance?

Watch Video Solution

https://dl.doubtnut.com/l/_OljqJxHbuArK
https://dl.doubtnut.com/l/_7k8uChLISS42


3. When true breeding pea plant with yellow

cotyledons are round seeds is crossed to a

plant with green cotyledons and wrinkled

seeds the genotype of progeny will be

Watch Video Solution

4. Define and terms phenotype and genotype.

Watch Video Solution

https://dl.doubtnut.com/l/_8WeeVzgYklyi
https://dl.doubtnut.com/l/_1dP55ZQGdgEM


5. What is point mutation? Give one example.

Watch Video Solution

6. The genotype of a dominant phenotype

Watch Video Solution

7. Differentiate between the following - 

(a) Dominance and Recessive (b) Homozygous

https://dl.doubtnut.com/l/_GorE02QpmmIJ
https://dl.doubtnut.com/l/_75aA1mYWpS7N
https://dl.doubtnut.com/l/_WU8SfVdniMqJ


and Hetrozygous 

(c) Monohybrid and Dihybrid.

Watch Video Solution

8. Differentiate between the following - 

(a) Dominance and Recessive (b) Homozygous

and Hetrozygous 

(c) Monohybrid and Dihybrid.

Watch Video Solution

https://dl.doubtnut.com/l/_WU8SfVdniMqJ
https://dl.doubtnut.com/l/_6L4PlMAKrT3k


9. The genotypic ratio an phenotyti ratio of

back cross and test cross of a mendelian

monohybrid respectively

Watch Video Solution

10. Write a brief note on chromosomal

mutations and gene mutations

Watch Video Solution

https://dl.doubtnut.com/l/_aFfEgUP9leuU
https://dl.doubtnut.com/l/_UJuVYTXTLfr5


Exercises

11. State the law of independent assortment.

Watch Video Solution

12. Write about dihybrid cross with the help of

checker board?

Watch Video Solution

https://dl.doubtnut.com/l/_V5F2zF8Sxiqh
https://dl.doubtnut.com/l/_N0Ui8ZhpdJVd


1. Mendel crossed pea plants producing round

seeds with those producing wrinkled seeds.

From a total of 7324  seeds, 5474 were

round and 1850 were wrinkled Using the

symbols R and r for genes, predict the (a) the

parental (p) genetypes, (b) the gametes, (c) 

progency, (d) the cross between  hybrids, (

e) genotypes, phenotypes genotypic

frequency, phenotypic ratio of  progeny.

View Text Solution

F2

F1

F1

F2

https://dl.doubtnut.com/l/_HplcA0MxSCdI
https://dl.doubtnut.com/l/_bF0Le0HywFZL


2. The following data was obtained from an

experiment on peas. The grey coloured seed is

dominant over white coloured seed. Use the

Latter G for grey and g for white traits. Predict

genotypes of the parants in each of the

following crosses. 

View Text Solution

https://dl.doubtnut.com/l/_bF0Le0HywFZL
https://dl.doubtnut.com/l/_18b6heJaY3rT


3. In tomatoes red fruit colour (R ) is dominant

yellow (r ). Suppose a tomato plant

homozygous for red is crossed with one

homozygous for yellow. Determine the

appearance of following. 

(a) The , (b) The , (c ) The offspring of a

cross of the  back to the red parent, (d) The

offspring of a cross of the  back to the

yellow parent.

View Text Solution

F1 F2

F1

F1

https://dl.doubtnut.com/l/_18b6heJaY3rT


4. In pea, axillary position of flowers T is

dominant over its terminal position (t).

Coloured flowers (C ) are dominant to white

flowers (c ). A true breeding plant with

coloured flowers in axils is crossed to one with

white terminal flowers. Give the phenotypes,

genotypes and expected ratio of  back

cross and test cross progenies. What

genotype ratio is expected in the  progeny ?

View Text Solution

F1, F2

F2

https://dl.doubtnut.com/l/_EUtwe55IX1e7
https://dl.doubtnut.com/l/_sLnVAwAOGMvg


5. In summer squash, a plant with white

flowers and disc shaped fruits is crossed to a

plant with yellow flowers and sphere shaped

fruits. The  hybrids had white flowers and

disc shaped fruits. Which phenotypes are

obminant ? Give the genotypes of the parents

and the hybrids. If these hybrids were selfed

and 256 progeny were obtained what would

be the frequency of the various phenotypes ?

View Text Solution

F1

https://dl.doubtnut.com/l/_sLnVAwAOGMvg


6. What is the genotypic ratio of monhybrid

cross?

Watch Video Solution

7. A diploid organism is heterozygous for 4

loci, how many types of gametes can be

produced?

Watch Video Solution

https://dl.doubtnut.com/l/_m0SeafFvhime
https://dl.doubtnut.com/l/_OvKbajb4a3uS


8. Crossing over occurs between

Watch Video Solution

9. Which of the following is a inherited trait ?

Watch Video Solution

10. For the expression of traits, genes provide

only the potentiality and the environment

https://dl.doubtnut.com/l/_TBVTCZddYbd0
https://dl.doubtnut.com/l/_Df91NwYpqjWX
https://dl.doubtnut.com/l/_T9rsJu5eUopw


provides the opportunity. Comment on the

veracity of the statement.

Watch Video Solution

11. Two heterozygous parents are crossed. If

the two loci are linked what would be the

distribution of phenotypic features in 

generation for a dihybrid cross ?

View Text Solution

F1

https://dl.doubtnut.com/l/_T9rsJu5eUopw
https://dl.doubtnut.com/l/_wcOq3ec6qVXI


12. In peas, tallness is dominant over

dwarfness and violet colour of flowers is

dominant over the white colour. When a tall

plant bearing violet flowers was pollinated

with a dwarf plant bearing white flowers,

different phenotypic groups were obtained in

the progeny in numbers mentioned against

them. 

Tall, violet = 138 

Tall, white = 132 

Dwarf, violet = 136 

Dwarf, white = 128 

https://dl.doubtnut.com/l/_DVzZoBA4cbFw


Mention the genotypes of the two parents

and of the four offsprings.

View Text Solution

13. The most important feature of all the living

systems from the view point of their

continuity is their capacity to

Watch Video Solution

https://dl.doubtnut.com/l/_DVzZoBA4cbFw
https://dl.doubtnut.com/l/_QzAzNQgfKIUF

